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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]
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Plot [['ECC:b—0’,

"FVIEC
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-4 0
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P3-4

BfiE) | GEBAK ) | ERE (EAR/H) | BERERE (B/R) | XS EE

07:45 273 150.0 2.583 5| FHA@O7:45 KENFEF (GRA{ERNEE)
08:30 273 150.0 2.583 5| FEAe08:30 KENFEF (RAMEEE)
09:10 273 150.0 2.583 5| FHA@09:10 KENFEF (CGRAfEEEE)
10:05 273 150.0 2.583 S| FHA@10:05 KENFEF (GRAIERENEE)
10:50 273 150.0 2.583 5| FEAe10:50 KEFEFE CGRAEESE)
11:30 273 150. 0 2.583 E(  FiHAe11:30 KRHEFEF CGRAERESE)
12:10 273 150.0 2.583 | FiHfe12:10 KRHEFEF (REAERKS)
12:50 273 150.0 2. 583 5| FHAe12:50 KEIEFE CGRAEESE)
13:30 273 150. 0 2.583 E(  FiHRe13:30 KREFEF (CGRAMERE)
14:15 273 150.0 2.583 5| FHAe14:15 KHEF (RKAERESE)
15:00 273 150.0 2. 583 5| FEAe15:00 KEFEFE CGRAFESE)
15:50 273 150.0 2.583 5| FHAe15:50 REFEF (RAEES)
16:55 273 150.0 2.583 5| FHAe16:55 KENFEF (CRAEES)
23t 3549.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 6.0
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P3-4

BrE) | GEBAK (3 | ERE(EH/AR) | EREE (G/R) [ XS R
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P3-4

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS EX

07:45 273 150. 0 2.583 E|  {Rige07:45 Bah (RE{ERSE)
08:35 273 150.0 2.583 |Z=| {Ri&e08:35 Bz (KEAEHSE)
09:25 273 150. 0 2.583 FA| 1B2i%@09:25 B3h (kAR
10:15 273 150.0 2.583 FA| 1B2i%@10:15 B3h (RAEREE)
11:05 273 150.0 2.583 FA| {Ri%e@11:05 Bzl (GRAEEE)
12:00 273 150.0 2.583 FA| {Ri%@12:00 Bz (GRAERE)
12:50 273 150.0 2.583 FA| 1BRi%@12:50 B3h (RAB{ERSE)
13:40 273 150.0 2.583 |Z=| {Ri&e13:40 Bz (REEZERSE)
14:25 273 150.0 2.583 |Z=| {Ri&e14:25 B3 (REEZBE)
15:40 273 150.0 2.583 |Z=| {Ri&e15:40 Bz GGREAZEBE)
16:50 273 150.0 2.583 |Z=| {Ri&e16:50 Bz (REEZEHE)
243t 3003.0 (11)%) 1650. 0 3EHKEC: 2080.0, PH: 6.0

#HEKRECE (1823.0 vs 4710.0) d5
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-4

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS ERE

08:30 273 150. 0 2.583 E  1BRi%e08:30 Bzl (RAEREE)
09:10 273 150.0 2.583 5| {Ri%@09:10 Bz (FRAERSE)
09:50 273 150.0 2.583 = {RRiB009:50 B (RFAEEE)
10:40 273 150.0 2.583 =l RRiB010:40 Bz (REAEEE)
11:20 273 150.0 2.583 =l RiB011:20 B3 (REAEESE)
12:05 273 150.0 2.583 =l {Rige12:05 B3 (RAERSE)
12:55 273 150.0 2.583 S| {Rige12:55 B (REAERSE)
13:50 273 150. 0 2.583 E| {Rig@13:50 B3h (RE{ERSE)
14:25 273 150.0 2.583 E BRige14:25 Bz CGRAERESE)
15:05 273 150.0 2.583 S| {Rig@15:05 B3 (RAERSE)
15:45 273 150. 0 2.583 E BRige15:45 Bz (GRAERSE)
16:35 273 150.0 2.583 5| 1RiR@16:35 Bz (KREAEES)
24t 3276.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

##[EKECE (1830.0 vs 4510.0) i d 5
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P3-4

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS ERE

07:05 300 150. 0 2.583 E| {Rig@07:05 Fzh (REERSE)
07:55 300 150.0 2. 583 & 1Ri%e07:55 Fzh (KREAERSE)
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